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BEANRE R7d [REBTRIMEEE12mKRETE

4 [ IR - WAKTiE By B = B {f & % =
EEIEE 95,057, 933
BB (-12m) 95,057, 933
BEMRET 59, 653, 917
LT 33, 495, 460
avhy—RrEREL 30,113,810
1 EEYEREL RIS (B . HHET 181. 00 92, 456 16, 734, 536
m3
2 Ay )— rEER - B - B aH 181.00 27, 689 5,011,709
m3
3 HEEMEEL . BEET 181.00 16, 304 2,951,024
m3
4 a2y ) — FEIERE Bif. EEV— F~L5i5 181.00 1,560 282, 360
m3
5 #EEYEEL XRIRER (B . AAKET 11. 00 54, 901 603, 911
m3
6 329 ) — FEuER Bif. EEV— F~L5i5 11.00 1,560 17,160
m3
7 BEMEEL RS T (BEAR) . HMET 15.00 123,275 1,849,125
m3
8 avy— rEER - Bk - BS mEn 15. 00 168, 171 2,522, 565
m3
9 HEEYMEEL mEn. WHET 15. 00 8,180 122,700
m3
10 a >y 1) — FRIERK |, FEV—F~0n5 15.00 1,248 18,720
m3
ARETL—Hh—HE 2,341, 650




BEANRE R7d [REBTRIMEEE12mKRETE

£ g R - KT BfI 8 2 B M ki £ wmE
11 REIL—h—HEE 1.00 2,341, 650 2,341, 650
=
nneE 1, 040, 000
12 nn& gFHavI)—+ 193.00 5,000 965, 000
m3
13 ng& EHAVI)— b 15.00 5,000 75, 000
m3
BET 26, 158, 457
BMEE 25,088, 398
14 ®EBREE ) FKE10mK 5 1,972.00 7,940 15, 657, 680
m3
15 #EBREE 2 IKE10~ 15mR 3 1, 069. 00 8,822 9,430,718
m3
IR 5 80 #1 I B 1,070, 059
16 KFEERT7— 7 YIER 37.00 28,782 1,064,934
m
17 RIS HAE JTEA - FrEl 0.50 9,316 4,658
t
18 JMIGH & HiEk 0.50 935.4 467
t
#HE - iRET 23, 330, 538
HWERL 23, 330, 538
HER 23, 330, 538
19 WEBREMR - HAN) FKE10mK 5 2,246.00 7,878 17,693, 988
m3




R7d LEBFRBREE-12MBRIE

BERNRE
% L IR - WAKTiE B = B {f oo ) S
20 HEEEHK - 7A Q) K10~ 20mK i 795. 00 7,090 5, 636, 550
m3
+T 401, 374
+T 401, 374
fEEl RC-40 11, 631
21 12dl 36. 00 323.1 11, 631
m3
Bt RC-40 389, 743
22 ¥ BEA# . RC-40 235. 00 1,450 340, 750
m3
23 BRIK (FER) Bt 20, 000m3k ;& 212.00 231.1 48, 993
m3
E&T 11,567, 061
FEHavHY—FI 11,567, 061
xR 796, 059
24 ZRMEIHEN EHRRRX) fELEET 33.00 24,123 796, 059
m
RBi5 847,900
25 tHEPHA R B R BRIk =) 40. 00 3,237 129, 480
m2
26 BERS 170. 00 4,226 718, 420
#m 2
A5 1,614,319




EERNRE R7d LEEFRXFEC-12mBRIE
4 [} R - KT iE B = il * H i

27 $minITHAT (1) SD345 D13 TRFIHIEEE, ELET ,626. 00 300 1,387, 800
kg

28 $xEhinTHAAT (2) SD345 D16 TARF T #tlgEE, ELEET 131.00 293 38, 383
kg

29 7—YiRiE 54.00 3,484 188,136
m

el 2,806, 937

REEEA T R TONCES ) fE EiET 299 00 10, 763 2,464,727
m2

31 KRB PAE SN EHRIRX) fELEET 30. 00 11, 407 342,210
m2

e B th 60, 996

32 HfEB BEEHER. t=10mm 23.00 2,652 60, 996
m2

7 H—r— 202, 360

33 Froh—NnN—F%E N=224 330. 00 102 33, 660
kg

3 T Uh—N—HE SUS304 D35x 1, 970mm 7.00 24,100 168, 700
N

avyy—+ 24N-8-20BB 5,238, 490

3 avy)— TR GEL) fEE, Ry TEHITHR 190. 00 27,571 5, 238, 490
m3

RE&T 90, 763

RKEL+DS5T 87,163

KELtDS itz (35) 67,233
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R7d LEBFRBREE-12MBRIE

£ g R - KT BfI 2 fili & £ i

36 KETDSHE BE - BE 3.00 8,051 24,153

%
31 KBTS HE 60. 00 718 43,080

%
TRYEER BIBA~LtRES 19,930
38 LTROEERK 46.00 375 17, 250

m3
39 HIGHLE RIEA - FrE 0.20 8,797 1,759

t
40 RIGFHE ER XETDS5& 0.20 4,605 921
t

nnE 3,600
BITS5AFvY 3,600
41 nonE XETDS5& 0.40 9,000 3, 600

m3
T 14, 280
PHEEXT 3R T 14, 280
B EE Xt 3R 14, 280
42 THEEALER (BUKESE) 7.00 2,040 14, 280

]
HEBEREE FEL) 24,357,718
HEBEREE 24,357,718
Bt - Z LVE 2,984,976




BEANRE R7d [REBTRIMEEE12mKRETE

£ g g - BAKTE Bify H = B & % wmE

FARY Ny DR EERM HED 3. 0m3 2,984,976
43 ZWE KREE~LEEFER) . @AAX 2.00 1,492, 488 2,984,976

=
EiE 361, 044
e FEE M 361, 044
44 5 E AL RER E#E o 0— k (¢400) 1.00 84,120 84120

=
45 7oh—Jov Y&k F7oh—7avY (2. 35t/1) 1.00 276, 924 276, 924

=
EEBEXRLEERE 13, 745, 360
KEERELEER 5, 165, 360
46 FAMHLERE 140. 00 6,077 850, 780

m
47 FABLERE 140. 00 5, 665 793,100

m
48 FAMGLLESH 1.00 3,521,480 3,521,480

=
KE B R LE 8, 580, 000
49 FEHLERERE 1.00 1,111,800 1,111,800

#®
50 BAGLREE 1.00 999, 600 999, 600

#®
51 BAMLRENE 1.00 6, 468, 600 6, 468, 600

=
2L2E 7,146, 338




BEANRE R7d [REBTRIMEEE12mKRETE

4 [} R - KT iE B #H =2 B * H =

=5 §TiZ4Z10-PEY 1,310, 584

52 [TiFIZRE 1.00 420, 240 420, 240
=

53 KTiFIZRHK 1.00 420, 240 420, 240
=

54 TiFIEHE 1.00 370, 800 370, 800
=

b5 TiZFiZHMiEEE 1.00 99, 304 99, 304
=

REXE REETIRMFRP D180PSHE! 5,835, 754

56 REEIEM FhE8h 1.00 5,835, 754 5, 835, 754
=

BitEEE 120, 000

HifrgE 120, 000

51 BREBIMAE 1.00 120, 000 120, 000
=




s iE % R7d LEEFREXFE-I2MBRIE

% g R - KSR Bifr B 2 B i & B W =
EEIEE 95, 057, 933
MEIEE 36,069, 362 + 32,847, 387 68,916, 749
HERERE GDH 24,357,718 + 11,043,534 + 668,110 36, 069, 362
HBRBE (FEL) 24,357,718
HBERER (R) 108,803,293 x 10.15% ((4.73% x1.68 +2.00%) x 1.02) 11,043, 534
BERERER 107, 759, 693 x 0. 62% 668, 110
Regng 131,127,295 x 25.05% ((22.48% +1.84%) x 1.03) 32,841,381
TER 95,057,933 + 68,916, 749 163,974, 682
—REEES 163,974,682 x 16.03% (16.03% x 1.00) — 5,412 26,279, 729
KRR HE 163,974,682 x 0. 04% 65, 589
T &l 163,974,682 + 26,279,729 + 65,589 190, 320, 000
HETR SR L 190, 320,000 x 10.00% 19, 032, 000
FEIZRE 190, 320, 000 + 19, 032, 000 209, 352, 000




Rifiz -/ \v7r—o

&5 1

B BEYEIRL MRRE (EH) . #EET

R7d LEEFRHXFE-12MHRIE

m3ZHY (20m3)

2 b g - BIRTE By = B 4 ) W = " =
Ny I RDE R (B WFHESR) /D 3. 0m3
B 1.00 968, 478. 00 968,478 6.00H / 8H
5|t (B HIERY) £/D 1, 000PSHE!
B 1.00 313, 313. 00 313,313/2.00H / 8H
REGHEDI L—h— HEZX 6, 000kg#k,. R—RXIPUEET
B 1.00 186, 820. 00 186,820 4. 00H / 8H
=X $M300tFE
B 1.00 157,101.00 157,101 8H
Bkt D 270PSE! 3~5tm
B 1.00 214,2217.00 214,227 8H
MR 2E0%
% 0.50 1, 839, 939. 00 9,199
& B 1E%HESH : 20.00m 3 92, 456. 00 1,849,138
5.2
B a vy )— FERIEA - B - RS AW m3#Y (60m3)
2 b g - BIRTE By = B 4 ) W = " =
Ny IR E R (B WFHEES) D 3. 0m3
B 1.00 968, 478. 00 968,478 6.00H / 8H
5|t (B HIERY) £/D 1, 000PSHE!
B 1.00 313, 313. 00 313,313/2.00H / 8H
=X $M300tFE
B 1.00 157,101.00 157,101 8H
Bkt D 270PSE! 3~5tm
B 1.00 214, 2217.00 214,227 8H
MR 2E0%
% 0.50 1,653, 119. 00 8, 265
& B 1E%HESH : 60.00m 3 217, 689. 00 1,661, 384
53
£ BEYERIEL B, #EET 10m3HyY
2 b g - BIRTE By = B 4 ) W = " =
AR EY B BHET S8
m3 10. 00 16, 304. 00 163, 040
& Hi 1E%HESH - 10.00m 3 16, 304. 00 163, 040




Rifiz -/ \v7r—o

R7d LEEFRHXFE-12MHRIE

5 4
£ AV ) — OB AR, EEVY—F~L55 Tm3%Y
2 b g - BIRTE By = il %8 # " =
aV9 ) — FEER . fEVY—F~05n15
m3 1.000 1, 560 1,560
& Hi 1E%HEH : 1.00m 3 1, 560 1,560
F5 .5
£ BEYREL MEWREEH . AAET 10m3HY
2 b g - BIRTE By = il %8 # " =
AR EY B AABEI #IHE
m3 10. 00 54,901. 00 549,010
& Hi YEZERESN - 10.00m 3 54,901. 00 549,010
ES .6
£ Ay ) — OB AR, EEVY—F~L5H5 Tm3%Y
2 b g - BIRTE By = il %8 # " =
aV9 ) — FEERR . fEVY—F~05n15
m3 1.000 1, 560 1, 560
& Hi 1E%HEH : 1.00m 3 1, 560 1, 560




Rifiz -/ \v7r—o

R7d

LERAFRMREECI2ZMBRIE

&5 .1
£ BEYRIRL MAREEE (BH) . BEET m3ZY (15m3)
2 b g - BIRTE By = B O %8 W = " =
Ny I RDE R (B WFHESR) #8D 3. 0m3
B 1.00 968, 478. 00 968,478 6.00H / 8H
5|t (B HIERY) $MD 1, 000PSEY
B 1.00 313, 313. 00 313,313/2.00H / 8H
REGHEDI L—h— HEZX 6, 000kg#k,. R—RXIPUEET
B 1.00 186, 820. 00 186,820 4. 00H / 8H
& $M300t7E
B 1.00 157,101.00 157,101 8H
Bkt D 270PSE! 3~5tH
B 1.00 214,2217.00 214,227 8H
MR 2E0%
% 0.50 1, 839, 939. 00 9,199
& B YEZERESN - 15.00m 3 123, 275.00 1,849,138
5.8
B a2y ) — FERFER - B - RS B m3ZY (15m3)
2 b g - BIRTE By = B O %8 W = " =
Ny IR E R (B WFHEES) $8D 3. 0m3
B 1.00 968, 478. 00 968,478 6.00H / 8H
5|t (B HIERY) $MD 1, 000PSEY
B 1.00 313, 313. 00 313,313/2.00H / 8H
& $M300t7E
B 1.00 157,101.00 157,101 8H
Bkt D 270PSE! 3~5tH
B 5.00 214, 2217.00 1,071,135 8H
MR 2E0%
% 0.50 2,510,027.00 12, 550
& B 1E%HESH : 15.00m 3 168, 171.00 2,522,577
59
£ BEYERIEL B, SEET 10m3HY
2 b g - BIRTE By = B Ol %8 W = " =
EEREEY B BHET S8
m3 10. 00 8,180.00 81, 800
& Hi YEZERESN - 10.00m 3 8,180.00 81, 800
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R7d LEEFRHXFE-12MHRIE

&5 :10
£ AV ) — FEOER BH. EEVY—F~L55 Tm3HyY
2 b g - BIRTE By H = B ) # " =
a9 ) — FERERK '\, FEVY—F~0ni5
m3 1.000 1,248 1,248
& Hi 1E%HEH : 1.00m 3 1,248 1,248
&5 11
W REJL—h—HEE XEY ()
2 b g - BIRTE By H = B ) # " =
Ny YRR R MR $ED 3.0m3 it
B 3.00 436, 980. 00 1,310, 940
5fin £MD 1000PSZY
B 3.00 176, 610. 00 529, 830 #tH
REGHEDI L—h— HEZX 6, 000kg#k,. R—XIPUEFT H#
A B 3.00 57, 680. 00 173, 040 8H
& $M300t7E
B 3.00 109, 280. 00 327, 840 #£H
& B 1E%HeH - 1.00K 2,341, 650. 00 2,341, 650
&5 .12
£ WnE B U—+ m3&#Y (Im3)
2 b g - BIRTE By H = B ) # " =
nne B
m3 1.00 5,000. 00 5,000
& B 1E%HEH : 1.00m 3 5,000. 00 5, 000
&5 .13
&% 0nE EHoooU—+ m3&#Y (Im3)
2 b g - BIRTE By B = B ) # " =
nng& B
m3 1.00 5,000. 00 5,000
& B 1E%HEH : 1.00m 3 5,000. 00 5, 000
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R7d LEEFRHXFE-12MHRIE

&5 :14
& HBREEN)  KFEIOmKH m3#H#Y (150m 3)
2 b g - BIRTE By = B ® W = " =
EEE M GEfEE) $HD 40t R
B 1.00 554, 580. 00 554,5806.00H / 8H
FLoONTy b+ 1. 5m3
B 1.00 33, 000. 00 33, 000
5fin D 450PSEY
B 1.00 194, 425.00 194,425 2. 00H / 8H
& $M500tFE
B 1.00 188, 946. 00 188, 946 8H
Bk D 270PSE! 3~5tH
B 1.00 214,2217.00 214,227 8H
MR 2E0%
% 0.50 1,185, 178. 00 5,925
& B 1E%HEH : 150.00m 3 7,940. 00 1,191,103
&5 :15
& HBREE Q) KFEI0~15mKiE m3#H#Y (1356m3)
2 b g - BIRTE By = B ® W = " =
EEE M GEfMEE) $HD 40t R
B 1.00 554, 580. 00 554,5806.00H / 8H
FLoSNTy bk 1. 5m3
B 1.00 33, 000. 00 33, 000
5fin D 450PSEY
B 1.00 194, 425. 00 194,425 2. 00H / 8H
& $M500tFE
B 1.00 188, 946. 00 188, 946 8H
Bk D 270PSE! 3~5tH
B 1.00 214, 2217.00 214,227 8H
MR 2E0%
% 0.50 1,185, 178. 00 5,925
& B 1E%HEH : 135.00m 3 8,822.00 1,191,103




Rifiz -/ \v7r—o

&5 .16
& KPER T — o LIk

R7d LEEFRHXFE-12MHRIE

1B5Y (10.9m)

£ 5 L - BIRTiE BT = i %5 i " =
KepEEHRT7— 2 LIk 10mmLA_E 20mm3k i
m 10. 90 23,920. 00 260, 728
STTFL—ryLb—y HHARAAER) GhEmRiES JE) 16tH
B 1.00 53, 000. 00 53, 000 8H
& Hi YEZERED : 10.90m 28,782.00 313, 728
&5 .11
& HIBFERIEA - FTH IR
£ 5 L - IRTiE BT = i %5 i " =
RIS H 4 S TEA - FrEl
t 1.000 9,316 9,316
& it %820 :1.00t 9,316 9,316
&5 :18
& HIE RSB IR
£ 5 L - BIRTiE BT = i %5 i " =
WS R4 LR
t 1.000 935.4 935. 4
& it E%8:H :1.00t 935. 4 935.4
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R7d LEEFRHXFE-12MHRIE

&5 :19
£ BHEBEREMR - A Q0)  KFEIOMEKH m3#HY (180m3)
2 b g - BIRTE By = B ® W = " =
EEE M GEfEE) $HD 40t R
B 1.00 554, 580. 00 554,5806.00H / 8H
FLoONTy b+ 1. 5m3
B 1.00 33, 000. 00 33, 000
5fin D 450PSEY
B 1.00 194, 425.00 194,425 2. 00H / 8H
& $M500tFE
B 1.00 188, 946. 00 188, 946 8H
5fin D 500PSEY
B 1.00 225, 875. 00 225,875/4.00H / 8H
Bk D 270PSE! 3~5tH
B 1.00 214,2217.00 214,227 8H
MR 2E0%
% 0.50 1,411, 053. 00 7,055
& B 1E%HEH : 180.00m 3 7,878.00 1,418,108
&5 :20
B WEBEREW - IRA () KFEI10~20mKH m3#H#Y (200m3)
2 b g - BIRTE By = B ® W = " =
EEE M GEfMEE) $HD 40t R
B 1.00 554, 580. 00 554,5806.00H / 8H
FLoSnNTy bk 1. 5m3
B 1.00 33, 000. 00 33, 000
5fin D 450PSEY
B 1.00 194, 425. 00 194,425 2. 00H / 8H
& $M500tFE
B 1.00 188, 946. 00 188, 946 8H
5fin D 500PSEY
B 1.00 225, 875. 00 225,875/4.00H / 8H
Bk D 270PSE! 3~5tH
B 1.00 214, 2217.00 214,227 8H
MR 2E0%
% 0.50 1,411, 053. 00 7,055
& B 1E%HEH : 200.00m 3 7,090. 00 1,418,108




Rifiz -/ \v7r—o

R7d LEEFRHXFE-12MHRIE

= : 21
L : #EAI Tm3HyY
2 b g - BIRTE By = il ) # " =
iR Hl
m3 1.00 323. 1 323. 1
& B 1E%HEH : 1.00m 3 323. 1 323. 1
&5 .22
B HE BEAM. RC-40 Tm3HY
2 b g - BIRTE By = il ) # " =
A BEA#. RC-40
m3 1.00 1,450 1,450
& B 1E%HEH : 1.00m 3 1,450 1,450
&5 .23
B BRIK (EELR) BL 20, 000m3K i Tm3HyY
2 b g - BIRTE By = il ) # " =
BIK (EBIR) Bt 20, 000m3 k%
m3 1.00 231.1 231.1
& Hi 1E%HEH : 1.00m 3 231.1 231.1
BS54
£ XRMALASN BHRRN) ELEET 100m Y
2 b g - BIRTE By = il ) # " =
ZRMAIHAN EHRR) JL—rtkE
m 100. 00 22,880. 00 2,288,000
STFL—29L—r A AR ER) GhE i I8 25t R
B 2.10 59, 200. 00 124, 320 8H
& Hi 1EZ%HEH : 100.00m 24,123.00 2,412,320
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R7d LEEFRHXFE-12MHRIE

&5 :25
ZF5 SR E R ISR Rk 100m2 %Y
2 b g - BIRTE BT o = B O %8 W = " =
e Eg ks EEINC S TEe) yL—rtkE
m2 100. 00 3,060. 00 306, 000
SITTL—29 b—r (B ARERR) GhE i I8 25t/
B 0.30 59, 200. 00 17,760 8H
& Hi YEZERES : 100.00m 2 3,237.00 323, 760
&5 :26
L HERE 100#m2 %Y
2 b g - BIRTE BT H = B O %8 W E " =
HEER
A 1.900 26, 210. 00 49,799
LU
A 6. 900 217, 460. 00 189, 474
LEEXS
A 1.800 22,780. 00 41,004
SOTL—29L—r [HEEBSIR] 25t/
B 0. 800 59, 200. 00 47, 360
EME (E+FEHH)
% 29. 000 327, 637.00 94,963
& Hi YEZERES - 100. 00#tm 2 4,226.00 422, 600
&5 :21
¥ SKEINTHAII (1) SD345 D13 TRESBIfSHE, BELET 1000k g8 Y
2 b g - BIRTE BT H = B Ol %8 W = " =
% () SD345 D13 TK¥ itfai
k g 1,030. 00 203. 00 209, 090
SR T AT (EEPTE4E) yL—rtkE
k g 1,000. 00 85. 28 85, 280
SITTL—29 b—r (B ARERR) GhE i I8 25t/
B 0.10 59, 200. 00 5,920 8H
& Hi YEZHeH - 1,000.00k g 300. 00 300, 290
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R7d LEEFRHXFE-12MHRIE

&5 .28
¥ SKEINTHASI (2) SD345 D16 TRESHIiSHE, HELET 1000k g5 Y
2 b g - BIRTE BT o = B O %8 W = " =
% (2 SD345 D16 IR iigHiE
k g 1,030. 00 196. 00 201, 880
SR T AT (EEPTE4E) yL—rtkE
k g 1,000. 00 85.28 85, 280
STFL—29L—r A AR ER) GhE i I8 25t/
B 0.10 59, 200. 00 5,920 8H
& Hi YEZERESN - 1,000.00k g 293. 00 293, 080
529
& T—0 R 1H&Y (9m)
2 b g - BIRTE BT H = B O %8 W E " =
FEgT7—VBEMELRED) FEE - EAaEE 3mmilE SmmakiE
m 9.00 3,484.00 31, 356
& Hi 1EZRESN 0 9.00m 3,484.00 31, 356
&5 :30
B SHRE ARSI AN B RIR) BELET 100m2% Y
2 b g - BIRTE BT H = B O %8 W E " =
BB AN AR S B R AR ) yL—rtkE
m2 100. 00 9,579.00 957, 900
STFL—29L—r A AR ER) GhE i I8 25t R
B 2.00 59, 200. 00 118, 400 8H
& Hi YEZERES : 100.00m 2 10, 763. 00 1,076, 300
&5 : 31
B REBAASI AN GRR) RBELET 100m2% Y
2 b g - BIRTE BT #H = B Ol %8 W = " =
ABERAET A5 (FH R AR yL—rtkE
m2 100. 00 10, 815. 00 1,081, 500
STFL—29L—r A AR ER) GhE i I8 25t R
B 1.00 59, 200. 00 59, 200 8H
& Hi YEZERES : 100.00m 2 11, 407. 00 1, 140, 700

10
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R7d LEEFRHXFE-12MHRIE

&5 :32
& @iEE EFER. t=10mm 100m2%HY
2 b g - BIRTE By = B O %8 W = " =
HEEHTI (BEEER) t=10mm
m2 100. 00 2,652.00 265, 200
& Hi YEZERES : 100.00m 2 2,652.00 265, 200
&5 :33
B T h—NN—FE N=22K 1000k g Y
2 b g - BIRTE By = B O %8 W E " =
BEkE - m/N—#T SRAREI8MEKH Y L— R E
k g ,000. 00 96. 72 96, 720
STFL—29L—r A AR ER) ChEES IR 16tH
B 0.10 53, 000. 00 5,300 8H
& Hi YEZHeH : 1,000.00k g 102. 00 102, 020
&5 :34
ZF: 7rh——4% SUS304 D35x1, 970mm 1K%Y
2 b g - BIRTE By = B O 25 W E " =
T oh—iN— SUS304 D35x 1,970
ZN 1.00 24,100. 00 24,100
& Hi 1E%HERN - 1. 00K 24,100. 00 24,100
&5 :35
BF .o o) —MTERGEEL) L, R THEITH 10m3HY
2 b g - BIRTE By = B Ol %8 W = " =
LT4—3HRbary)—+F 24N-8-20 W/C=55%LLT
m3 10. 20 22, 850. 00 233,070
a9 1) — MTER (EEITEE) Ry TE
m3 10. 00 4, 264.00 42, 640
& Hi YEZERESN - 10.00m 3 27,571.00 275,710

11
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R7d LEEFRHXFE-12MHRIE

&5 .36
2% RELDSHE HiE- BE L ED)
2 b g - BIRTE By = il ) # " =
HEEE
A 0.278 26, 210. 00 1,286
HIRIEXS
A 0.278 26, 100. 00 7,255
LEEXS
A 0.278 22,780. 00 6, 332
RET D5 EH AE H110x110 REAMREEXTE GF) B
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